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Exercice 2 :

Tracez la trajectoire de l’outil, à partir des programmes donnés.
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Programme N°4 :





%04


N10 G00 X0 Y6


N20 G01 Z-5


N30 Y6


N40 X2.5


N50 G02 X2.5 Y3 I2.5 J4.5


N60 G01 X0


N70 X2.5


N80 X4 Y0


N90 G00 Z4


N100 M2








Programme N°3 :





%03


N10 G00 X4 Y8


N20 G01 Z-5


N30 G03 Y0 I5 J4 


N40 Y1 I4 J.5


N50 G02 Y7 J4


N60 G03 Y8 J7.5


N70 G00 Z4


N80 M2
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Programme N°4 :





%04


N10 G00 X0 Y6


N20 G01 Z-5


N30 Y6


N40 X2.5


N50 G02 X2.5 Y3 I2.5 J4.5


N60 G01 X0


N70 X2.5


N80 X4 Y0


N90 G00 Z4


N100 M2
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X








Programme N°1 :





%01


N10 G00 X1 Y6.5


N20 G01 Z-5


N30 X1 


N40 Y1


N50 G03 X2 I1.5J1


N60 G01 Y3


N70 X4 Y1


N80 G03  X5 Y2 I4.5 J1.5


N90 G01 X3 Y4.5


N100 X5 Y6.5


N110 G03 X4 Y7.5 I 4.5 J7


N120 G01 X2 Y5.5


N130 Y7.5


______________________


______________________


______________________












































Programme N°2 :
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